



Exported on 26/09/2018

Date Selected: 26/09/2018

Group(s): Teagasc Heavy Soils Programme

Farm	Cover Date	Farm Cover (kg DM/ha)	Cover/L U (kg DM/LU)	Stocking Rate (LU/ha)	Growth/ha (kg DM /ha/day)	Demand/ha (kg DM /ha/day)	Rotation Length Now(day s)	Rotation Length Back (days)	Grass Allocati on / LU (kg	Grass Intake/Co w (kg DM/cow)	Meal Intake (kg/cow)
Castleisland	25/09/2018	721	295	2.44	48	34	25	40	14.1	13.0	5.0
Doonbeg	24/09/2018	939	370	2.54	55	44	27	38	17.2	17.2	2.8
Lisselton	25/09/2018	722	257	2.81	43	31	30	33	11.0	11.0	6.0
Athea	25/09/2018	687	246	2.79	36	36	30	51	13.0	13.0	4.0
Rossmore	23/09/2018	763	205	3.73	65	56	26	23	15.0	15.0	3.0

Average	766	275	2.86	49	40	28	37	14.1	13.8	4.2

Milk Summary:

Farm	Milk Date	Litres /Cow	Fat%	Protein%	Kg Milk /Cow
Castleisland	24/09	19.98	4.28	3.86	1.67
Doonbeg	24/09	18.01	4.85	4.07	1.65
Athea	23/09	17.13	4.54	3.9	1.49





Exported on 26/09/2018

Date Selected: Group(s):	26/09/20 ² Teagasc	18 Heavy Soils	s Program	nme		
Rossmore	22/09	20.29	4.63		3.83	1.77
Average		18.85	4.58		3.92	1 65





Date Selected: 26/09/2018

Group(s): Teagasc Heavy Soils Programme

Milk Summary:

Farm	Cover Date	Milk Date	Litres /Cow	Fat%	Protein%	Kg Milk /Cow	scc
Castleisland	25/09/2018	24/09	19.98	4.28	3.86	1.67	
Doonbeg	24/09/2018	24/09	18.01	4.85	4.07	1.65	
Athea	25/09/2018	23/09	17.13	4.54	3.9	1.49	
Rossmore	23/09/2018	22/09	20.29	4.63	3.83	1.77	123
Average			18.85	4.58	3.9	2 1.65	123







Date Selected: 26/09/2018

Group(s): Teagasc Heavy Soils Programme

Fertiliser Summary:

Farm	Cover Date	Last Fertiliser Date	kg of N/ha	N Area%
Ballygree	25/09/2018	24/09	44	77
Danny Bermingham -	24/09/2018	24/09	26	80
Donal and Michael Keane	25/09/2018			
John Leahy	25/09/2018	24/09	29	94
Tom and TJ Ryan	23/09/2018	17/09	9	5
Average			27	64

